13 Stephen Street, Paddington

January}, 2007:10:00:00

North = 6249718018 ast = 336054.00 RL = 1685

Laitirde = 33100 Longitude®=A5100.E  Time Zone - 0.0 hrs
FPS = 20,7, Vid Mem - 2654 MB" FOV=70.0 deg

13 Stephen Street Balcony RL 16.86 EXxisting
Januaryd, 200740:00:00
North 7.6249?13,91 East = 356054.00 RL = 16.85
Lafifirde =53:00/5+ “longitudeSH5100,E Time Zone — 0.0 hrs
FPS = 16,7 Vid Mem — Zg’? MBI FOV:- 70.0 deg

13 Stephen Street Balcony RL 16.86 Proposed




January 1,2007,90:00:00

Norih = 624571745 East= 336064.69 R = 13162
Latitude =33.00/8 = ongitiude =151.00/E  Time Zone = 10,0 hrs
ERS =58 Wid[Mem = 2066 MBT - EOV =700 deg
) z L

13 Stephen Street Door RL 13.83 Existing
January 1, 2007, 10:00:00
Northi= b245747:45) East= 336064 69, RIL = 13.87
Lantude = 33005 ongitude = 151.00/E  Time Zone = 10.0 hrs
EPS = 24.90 WidMem = 2150 MB° EOV=70.0/deg

13 Stephen Street Door RL 13.83 Proposed




Januany 15200790:00:00

Norih = 6245713211 East = 33606516 R = 13162

Ianitude =33.00/5 = Siongitid e =151.00 lime Zone = 10,0 hrs
ERS=SI0EWHIMem = 295.0iMB EOV =V0l0 ideg

A

13 Stephen Street Footpath RL 13.83 Existing ‘

January 1, 2007, 90:00:00

Norih = 6248713211 East = 83606516 RIL=13187

Iatitde —3S3:00158 - [longitude = 151,00 = Time Zone —10.0 hrs:
EPS =186 Wid Mem = 215.0/MB - EOV = 70.01deg

F

B

13 Stephen Street Footpath RL 13.83 Proposed




January 1, 2007 10:00:00

North = 6245716.76 East= 336051007 RI- = 1517

_Iigli|ude =33.00 5/ lengitude = 151000 E  Time Zone = 10.0 hrs.
EPS = 20i60 VidiMem' =244.3 MBS EOV - 70,0/ deg

13 Stephen Street Window RL 15.15 Existing
January 1, 2007, 10:00:00
North = 6249716.76 East=33b051007, RI. = 15.17;
L‘glimde =33.00 5/  lengitude = 151,00 E  Time Zone = 10.0 his:
EPS = 16150 VidiMem'=244.3 MB® EOV = 70.0/deg

13 Stephen Street Window RL 5 Proposed







